Polynomial Factoring

First Step: Common Factor

Example: x> —x*—6x =x(X*=-x—6) =x(x=3)(x+2)

Polynomials with 2 Terms

e Difference of Squares

X*—4 =x°’-2)° =(x+2)(x-2)

Example:
X' =16 =(x*)*—(4)?* =(xX*+4)(x*-4)

e Difference of Cubes
Example: x*-8 =(Xx)’-(2)° =(x-2)(x*+2x+4)
e Sum of Cubes

Example: 8x°+27 =(2x)°+(3)° = (2x+3)(4x* —6x+9)

Polynomials with 3 Terms

e Quadratic
Example: x*—2x-3  =(x-3)(x+1)

Example: x*—2x*-3 =(x*)*-2(x*)-3 =(xX*-3)(X*+1)

Polynomials with 4 Terms

e Grouping

A} +6x* —2x-3 = (4x>+6x°)+(-2x—-23)
Example: =2x*(2x+3) — (2x+3)
= (2x* =1)(2x +3)
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